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SOCIAL MEDICINE & COMMUNITY HEALTH
Paper - 11
Note : This paper contains fifty (50) objective type questions, each question carrying
two (2) marks. Attempt all the questions.

“Since both in importance and in
time health precedes, disease, so we
aught to consider first how health
may be preserved and then how one
may best cure the disease” is stated
by

(A) Galen (B) Hippocrates
(C) Atraya (D) Avicenna

The following indices are used for
measuring disability except

(A) Sullivan’s Index
(B) HALE (Health Adjusted Life

Expectancy)

(C) PQLI (Physical Quality of Life
Index)

(D) DALY (Disability Adjusted
Life Years)

The term family size refers to

(A) Total number of children a
woman has given birth to at a
given point in time.

(B) Total number of female
children born to a woman.

(C) Total number of male children
born to a woman.

(D) Total number of persons to a
nuclear family.

In order to achieve NRR = 1 the
percentage of eligible couples

practising family planning method
should be

(A) 40 B) 50
(©) 60 (D) 70

Paper-1I

Variation in two variables with
different units of measurement data
can be compared by

(A) Variance
(B) Standard Deviation
(C) Mean Deviation

(D) Coefficient of variation

Trickling filter is used in

(A) primary treatment of sewage
(B) secondary treatment of sewage
(C) oxidation pond

(D) sewage farming

Biochemical = Oxygen  Demand
(BOD) is determined by

(A) Oxygen content
(B) Algae content in water
(C) Organic matter and bacteria

(D) Agricultural fertilizer content
in water

Thickness of lead apron to prevent
radiation exposure is

(A) 0.1 mm (B) 0.5 mm
(©) 1.0mm (D) 2.0 mm.

WHO Reference Centre for air
pollution in India is in

(A) Hyderabad (B) Mumbai
(C) Delhi (D) Nagpur
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(C) 1.0 mm

(B) 0.5 mm
(D) 2.0 mm
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10.

11.

12.

13.

14.

Soiling index is an indicator of
(A) Air pollution

(B) Water pollution

(C) Soil pollution

(D) Noise pollution

Venturimeter is used for

(A) Measuring bed resistance in
slow sand filter.

(B) Measuring air velocity.

(C) Measuring amount of chlorine
required for chlorination.

(D) Measuring amount of observed
radiation.

‘Ideal contraceptive’ should not have
the following characteristic :

(A) Safe and inexpensive

(B) Irreversible

(C) Independent of coitus

(D) Does not require frequent
administration

‘Management by exception’ relates

to

(A) Personal Management

(B) Material Management

(C) Time Management

(D) Finance Management

Any phenomenon that has potential
to cause disruption or damage to
people and their environment is
called

(A) Disaster
(C) Calamity

(B) Hazard
(D) Catastrophe

Paper-1I

15.

16.

17.

18.

19.

20.

The colour of the bag used for
human anatomical waste disposal is
(A) Red (B) Yellow
(C) Black (D) Blue

Progressive Massive Fibrosis (PMF)
is a lung condition seen in

(A) Silicosis (B) Anthracosis
(C) Bagasosis (D) Stannosis

The best method of teaching rural
population about ORS is

(A) Demonstration

(B) Lecture

(C) Role play

(D) Flash card

Highest unmet need for family

planning in women below 25 years

of age is for

(A) Limiting the births

(B) Treatment of complications of
Contraceptive Methods

(C) Spacing the births

(D) Delaying the first pregnancy

Sullage is
(A) liquid excreta.

(B) byproduct of
industry.

(C) waste water from an industry.
(D) waste water from kitchen.

chemical

The reason why filarias causes small

scale epidemics is the following

except

(A) many drugs are available for
treatment of filariasis

(B) the parasite does not multiply
in the insect vector.

(C) the infective larvae do not
multiply in the human host.

(D) the lifecycle of the parasite is
relatively long — 15 years.
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11.

12.

13.

14.
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(D) ¥R TG 1

FreRIHIeX ShT AT Tohar Tl &

(A) HieT I Theex H TER-Wa
A o o |

(B) STg-aiT |9 % T |

(C) FARIIHOT o feTu STufetd Seai
! HET A & oW |

(D) et TafehoT sl e A & fog |

RS THRIYS | EfeiEd 7 9 S

W1 forereaT et gt =en ?

(A) T 3R Tt

(B) 3FIchAIA

(C) ﬁaga%wmwwmfw
-

(D) T IR-9R SUANT Hl ST 7
|

(A) ke YeeE
(B) sEWEETH
(C) T VT
(D) foavee

St HeAT AN S Wl AT STE ugdn
ohell &1, 3 el &

(A)  fomm (o)
(B) W (8%)

(C) ot (shetfirch)
(D) el (i)

J-8110

15.

16.

17.

18.

19.

20.
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21.

22,

23.

24.

25.

Demography is a study of
(A) old age

(B) insects causing disease
(C) population

(D) nutritional habits

Risk factor for cancer is

(A) Tick Bite

(B) Multiple sex partners
(C) Solar radiation

(D) Lack of health services

Incidence of a disease is related to
(A) new cases

(B) old cases

(C) recurrent cases

(D) chronic cases

Toxoids are used as immunising
agent in

(A) Influenza
(B) Diphtheria
(C) Yellow fever
(D) Rubella

Which one of these diseases 1is
covered under International Health
Regulation Act ?

(A) Tuberculosis
(B) HIV/AIDS
(C) Poliomylitis
(D) Yellow Fever

26.

27.

Question Nos. 26 to 32 consists of
matching item. This consists of two
lists of statements, terms or symbols
and the candidate has to match an
item in one list with item in the
other.

List -1 List — II
(Levels of
Prevention) (Example)
(a) Primordial (i) Individual
and mass
education

(b) Primary (i1) Small
reduction in

average
population
blood
pressure

(c) Secondary  (ii1) Limit the
disability

(d) Tertiary (iv) Treatment of
disease

Code :

@ @® (© (@
A (@ @) (v) (i)

(B) () (i) @[Gv) (1)
© @i @Gv) (@) (i)
D) Gv) (@) @G (i)

List -1
(Screening test)
(a) HIV/AIDS

(b) Diabetes
Mellitus

(c) Cataract (i11) Middle aged
(d) Cerebral palsy (iv) Infancy
Code :
@ @® (© (@
A (@ @G (@) (@1v)
B) (@ ai) @) (@Gv)
© @) (@Gv) (@) (@
(D) () @Gv) @) @O

List — 11

(Group)
(1) Pregnancy
(i1) Elderly



21.

22.

23.

24.

25.

S fomT (Teamy) aregam &

(A) T F
(B) 2 & I ¥ & ool Smar
EA)
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HER H TR o R &

(A) Tk T FeT

(B) g AN & HA-Feey T
(C) WR-faferor
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Toheft ST o &I o1 e &

(A) A"

(B) R YT W
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g2

(A) 2ra,
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(D) el ®ieR
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26.

27.

e 9. 26 ¥ 32 &1 oy Gl e
AT HRT 9 € | ST ekl i & great
TS 7 Uelieh & | 31t st G-l it A

! Fer-11 ol 717 & GAferd FEATE |
T -1 et - 11
(Faror =) (33TEX0T)
(a) oT=1 SCIE (1) Jafeaes g
e fereor
(b) TrafHes (i) 3Td SFEE
IGEIEUI &% TEg o
T i e
(OREIRED (iii) SR H
FemoT Wi HET
(d) i (iv) AT T STAR
IGEIEUI
He
@ M (© @

A GO G >[v) (i)
B) G i) @Gv) @)
© @) @Gv) (@) >G)
D) Gv) () @) (i)

et - I et - 11
(BT 2R) (W)
(a) TALIEAL/TST (i) TR
(b) TARET (i) =@Eg
nferea

(ORIULRICH (iii) TeEa
(d) ORa=hIT ST (iv) SreTETET
Fe
@ b © @@
A (@ 3G (i) ([v)
B) (@@ Gi) G (Gv)
(©) @) (@Gv) (i) (i)
(D) (i) (@{v) @G ()
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28.

29.

30.

List - 1
(Disease)

(a) Lung Cancer

(b) Malaria
(c) Tetanus

List — 11
(Occurrence)
(1) Epidemic
(i) Endemic
(1i1) Sporadic

(d) Haemorrhagic (iv) Pandemic

Conjunctivitis
Code :
(@ (b

A @ (i)
(B) (i) (i)
© (Gv) (i)
(D) (i) (iv)

List - 1
(Body Weight
Indicators)
(a) Body mass

index

(b) Broca
index

(c) Corpulence
index

(d) Ponderal
index

Code :

(@ (b)
(A) (i) (1)
B) () (@Gv)
(©) () (@v)
(D) @Gv) (i)

List -1
(Family cycle)

(a) Formation
(b) Extension

(c) Contraction
(d) Dissolution
Code :

(@ (b)
A @ (>
(B) (i) (i)
(©) () (i)
D) Gv) O

Paper-1I

(© (@
(iii) (v)
(iv) (1)
(i) @)
(H (i)
List - 11
(Formula)

(1) Height(cms)/

\3/B0dy wt. kg.
(1)) Weight in kg /
Height(cms)?
(iii) Height (cms) -
100
(iv) Actual wt./
Desirable wt.

(© (@
@iv) ()
(1) (i)
(H ()
(i @
List - II
(Beginning of
Phase)

(i) Birth of 1* child.

(ii) 1% child leaves
home.

(iii) 1% spouse dies.

(1iv) Marriage.

(© (@
(iv) (i)
@ @Gv)
@(v) @)
(i) (iii)

31.

32.

33.

List -1 List — II
Measurement of .
( Lieho (Unit)
(a) Brightness (1) Candella
(b) Flow (i) Lumen
(c) Light reaching  (iii) Lux
surface
(d) Light remitted  (iv) Lambert
by surface
Code :
@ b © @
A @ Gy (@) (@1v)
B) ) (@ @) (@1v)

(© @) (@Gv) @G) @)
D) @) @Gv) (@) (>G)

List - 1 List — 11
(Carcinogen) (Occupation)
(a) Arsenic (1) Combustion

room worker

(b) Asphalt (i1) Printer

(c) Soot (1i1) Gardener
(d) Coal (iv) Road
product construction
worker
Code :

(@ b (© (@
A) ) i) @) @{v)
B) Gv) @G 3G (@)
(© @) (@Gv) @G) (@)
D) Gv) G (@) (i)

Identify correct ascending order of

the incidence of cancer in different

organs of the body in Indian females.

(A) Ovary, Corpus uteri, Cervix,
Breast.

(B) Corpus uteri, Ovary, Cervix,
Breast.

(C) Cervix, Ovary, Corpus uteri,
Breast.

(D) Corpus uteri, Ovary, Breast,
Cervix.
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(B) (i) (iii)
(C) (iv) (iii)
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29. U |
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I

(N

OEEIE:EED
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30. T - 1
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A @ (i)
(B) (i) (i)
(©) i) (i)
D) Gv) @)
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et - 11
()

(i) S (g

R [eRReR (7.
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(8.41.)2

(iii) S (F.A) — 100

(iv) T IR / S7uferd
HRX

(© (d)
iv) (@)
(i) (iii)
(i) (i)
(i) @)
it - 11
(VITETRAT St JTHAT)
(i) v RS
(il) v o= R

ESAIE]

(iii) STer T | Wk i
et 5

(iv) foeme

(© @
(iv) (i)
@ Gv)
(iv) @)
(i) (iii)

31.

32.

33.

T -1 et - 11
(UEHTST Y WT) (T3
(a) T9F (i) e
(b) & (i) AT

(c) TehTT kT HAg I (ii1) T
ST

(d) TTTE T RIS T
TR

Fe:

(@ (b (© (@
A GO G 3G (@{v)
B) ) (@ 3G (@{Qv)

(iv) =

© (i) @(v) @) @)

(D) (i) (Gv) (@@ (i)
et - I et - 11
(FET B

T ) (FTEH)

(a) GRE=T (i) Saferd
©IiEED) % HER

(b) TRHT (i) 5

() T (iii) et

(d) PEATRT  (iv) TS =TT
TR U= FHHART

&

@ (b)) (© (@
(A) () (i) @) (iv)
B) (v) (i) i) @)
© (i) @(v) @) @)

(D) Gv) () (1) (i)

IRATT Afgenal § IR & fafoy 9 o
B ATt haR T STRIET ShH i T 2
(A) ISR, TS, W, T

(B) T, 3SR, W, WA

(C) e, SME, TR, W=

(D) TR, e, T, e
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34.

35.

36.

Identify correct descending order of
the food items according to their
caloric value.

(A) Cow Milk, Banana, Whole
Wheat, Soya bean.
(B) Soya bean, Whole Wheat,

Banana, Cow Milk.

(C) Banana, Soya bean, Cow Milk,

Whole Wheat.

(D) Whole Wheat, Banana, Cow

Milk, Soya bean.

Identify the correct sequence of
purification of water by Rapid sand
filter method.

(A) Rapid mixing, Coagulation,
Flocculation, Sedimentation.
(B) Coagulation, Flocculation,

Sedimentation, Rapid mixing.

(C) Coagulation, Rapid mixing,
Flocculation, Sedimentation.
(D) Sedimentation, Coagulation,

Rapid mixing, Flocculation.

Identify in  descending  order

according to the iron content of the

food items.

(A) Jaggery, Amaranth leaves;
Lentil, Milk.

(B) Jaggery, Amaranth leaves,
Milk, Lentil.

(C) Amaranth leaves, Jaggery,
Lentil, Milk.

(D) Amaranth  leaves, Lentil,

Jaggery, Milk.

Paper-1I
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37.

38.

39.

Identify ascending order of energy

expenditure  for various daily
activities.
(A) Office work, Driving,

Swimming, Cycling.

(B) Driving, Office work, Cycling,
Swimming.

(C) Office work, Driving, Cycling,
Swimming.

(D) Driving, Office work,

Swimming, Cycling.

Identify correct ascending order of
incubation period of acute viral
infections.

(A) Influenza, Measles,
Chickenpox, German
Measles.

(B) Influenza, German Measles,

Measles, Chickenpox.
©

German Measles, Influenza,

Measles, Chickenpox.

(D) Chickenpox, Measles,

Influenza, German Measles.

Identify the correct sequence of
occurrence.

(A) Disease -  Disability -
Impairment — Handicap.

(B) Disease - Impairment -
Handicap — Disability.

(C) Handicap -  Disease —
Impairment — Disability.

(D) Disease - Impairment -

Disability — Handicap.
J-8110



34.

35.

36.

frfefad @m@r oemt & 3% Helid-
odT o 3TTAR STeRIE! oA § AT

(A) T T 3, HeAl, T T, TAre
(B) WIS, Qe e, hedl, T T g4
(C) e, THETEH, T T e, 9T e

(D) 9T T, hel, T T g, FiATe

e e freex & fafir= =on =&t w9 °
fefEm |

(A) Mus i, FHITATH,

(B) SITISH, FATRIevH, YEHITH,
tre ffera

(C) wITEvH, oz fofedm,

(D) UEHIM, HWCRH, UE

TrtefEd @ ugret & 379 "SR e
i AT o TR SHH | AR i :

(A) TS, 3T, wifeet, 4
(B) TS, 3R, 3, wifeet
(C) TR, TE, wifeet, 39

(D) TR, ¢iied, T, 39
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37.

38.

39.

ST o T=fetiad srat i S99 Sl

! U & ARIET 5hH T LI iU

(A) HECA P, AR TAHT, AT,

ATEfhet T

qET  TAMI,  ShEAed
TTTeReT AT, AT

FEACHEE  HE, 9T TG,

TTTeheT AT, AT

(B) F,

©

e AT, HEE 1, aeT,

ATEfehet T T

(D)

Tt ToreTu[sT=1 ToTeTopst=r I o ST
HTeT T STRIET ShH T HET oty

(A)  STCTUSTT, WU, SIS AT, STHA
T

SUCTUSTT, STHA EERT, EET, it
T

(B)

(C) ST WO, TUST, T, B
AT

(D) B AT, GO, THIUST, STHA
Y

T 323t & Wet shH i TedTu

(A) TedrT - femfaferdl — $oeRye —
e

(B) fedis - Zomde - &Efedu -
Tequfsferer

(C) #eu — fede - ugwe -
Tewfaferer

(D) fedst — doeRHe — feuufaferdr —
L

Paper-1I



40.

41.

42.

Given below (40 to 46) consists of
the two paired statements, statement
A (Assertion)
(Reason) R .

and Statement

Select appropriate answer using the
code given below as follows :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

Both (A) and (R) are true, but
(R) is the
explanation.

(A) is true, but (R) is false.
(A) is false, but (R) is true.

(B)

not correct

©
(D)

Assertion (A) :
patients with better prognosis

Triage is treating

on priority.

Reason (R)
colour disc are given high

Patients with red

priority for treatment.

Assertion (A) :
do not end abruptly and ‘tail

Cholera epidemics

out’ over a longish period.

Reason (R)
have a high potential to spread

Cholera epidemics

fast and cause mortality.

Assertion (A): Infected cattles
excrete gram +ve Brucelles

organisms in milk.

Reason (R)
consumption

milk
causes

Raw

Brucellosis in man.
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43.

44.

45.

46.

Assertion (A) :
pressure refers to recording the

Tracking of blood

blood pressure round the clock
in children.

Reason (R)
included in primary prevention

Population strategy
of blood pressure involves
non-pharmaco therapeutic

interventions.

Assertion (A) :
useful tool for evaluating the
(CMI) of

Lepromin test is a

immune  status

Leprosy patients.

Reason (R)
epidemiological tool and not a

It is an important

diagnostic test.

Assertion (A) :
administer measles vaccine to
old

Health workers can

six to eight months

malnourished children.

Reason (R)
children are at high risk of

Malnourished

complications from natural
measles.
Assertion (A): Herd immunity

implies level of resistance of a

community to a particular
disease.
Reason (R) Herd immunity

protects the newborn in case of
Neonatal Tetanus.
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40.

41.

42.

T= T wE KT ™ E P (A)
(3ATTeR) T9r e (R) (FROT) | A
TR el T ST FA §¥ Tel IR
T+ : (Q. No. 40 ¥ Q. No. 46)

(A) (A) &1 (R) I Wl € @ (R),

(A) I e ATATE |

(A) T (R) BT W &, W (R),
(A) ! TE AT TR & |

(A) TEIE, W (R) T € |

(B)

©

(D) (A) T e, W (R) Tl & |

FUF (A) : 7 A & 3w B A
HYTEAT 3T 8 3h IUAR i
SRITeT 3 Sl TS e & |

HROT(R) : 5 AT 3 ofrer &1 0t ggt
TS &l 3% ST & S € |

FHAT(A) : & B TR TH--UF
U &l B € | 98 o qHd
qh Tl @l & IR dR-ER
T EIA € |

HROT (R) : &7 I HeMRT sgd el &
o § SR TEH A A 3T
A |

HYUT (A) : ThAd TRl g9 H UM
gifstiee SR i) sied € |

HROT(R) : 597 39 T ECERSER

FH T I AT SERE O
AT BT & |
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43.

44.

45.

46.

HAT(A) : T T AT F SR
T AY ¢ AT WS g
HIOAT |

HROT(R) : AT Sl URF e
T IOHIT | gaT & AT 3
3 IMHAE |

HUT(A) : FTEAT & TS H I
TRy IfeRT ST GodAishT e &
ToTu ST o ST € |

HROT (R) : Wi = TF
ufreiHeitsTher <7 &, FeHsR!
ST T |

FAT(A) : T: ¥ S G IF FH W
T U Soal i -

GO T 21T o bl & |

HRUT(R) : FUMST =il I Uhiceh
TE &N T ATk TRy YT gl
g

FUA (A) : FOS AT WY HT AT €
ot SR & ufd uw IgEE o
TTCTIehdT ol & |

HROT (R) : 3OS I AReshal Aasa
1] &1 ‘e 29 ¥ S
T
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Read the passage below and answer

the four questions based on your

understanding of the passage.

(Question Nos. 47 to 50) :
Rehabilitation is the process of

enabling an impaired person to
renew old skills or to acquire new
skills that will qualify him/her to live
in society to the extent that his
particular condition and
circumstances will allow. Social
skills training, vocational guidance
and sheltered workshops for chronic
mental patients are part of
rehabilitation. The crucial aspects of
rehabilitation deal with bringing out
the reserves and strengths in each
individual in  one’s  peculiar
psychosocial environment for a
fuller life, not withstanding the loss
that was suffered. The process of
psychiatric rehabilitation is not so
much of restoration, as one of
habitation and achievement of a
status in a society minimizing the
individual’s deficits and capitalising
on his/her residual functions. The
manner in which the family responds
to a mental illness may also
determine the extent of his
consequent disability.

Rehabilitation is more of an
approach rather than a technique
which encourages the patient to live
and function to the full extent of his
capabilities despite his limitations.
These limitations are usually known
by the term “social disablement”.
Social disablement accompanying
psychiatric disorders is likely to be
due to the interaction of multiple
causes. The following are the three
chief causes of social disablement.

(1)  Social disadvantage, such as
hostile family environment,
lack of vocational and social
skills, social stigma, poverty,
unemployment, homelessness
or no sense of belongingness.
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47.

48.

49.

50.

(i) Adverse personal reactions,

like lack of self-confidence,

poor self-esteem, low
motivation, worthlessness and
helplessness.

(ii1)) Impairment due to symptoms

like hallucinations, delusions

and thought disorders which

distort reality testing.

Rehabilitation does not include one
of the following :

(A) Social skill training

(B) Vocational guidance

(C) Sheltered workshops

(D) Allow to live in the society

Crucial aspect of rehabilitation is
(A)
(B)
©

ability to acquire qualifications
psychological environment
bringing out the reserves and
strengths

(D) compensation for the loss
Social disablement is

(A)
(B)

Hostile family environment

Limitations to live and
function

Lack of vocational and social
skills

No sense of belongingness.

©

(D)

Adverse personal reactions include
all except

(A)
(B)
©
(D)

Poor restoration of health.
Lack of self-confidence.
Poor self-esteem.

Low motivation.
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fr=ferfiae e ufeu AR SHH THeT &
YR W M {U M0 =R w9 & SR
T (91 . 47 9 50) |

AT U U AR € ek gRT
IS ST TR 379 T DIvTA T
AR T 3R AT FA AT A &
AT AT € | 37 DI o IMER T 8
e ST et 3R uRkfeafa & erEy
TS H SeH-TOT Y Gehdl & |
TR STl Sl URTRT0T, Hedlas
ANERHE, [ FARIET % o R
HTAMCAT ol HET e & & 3 € |
AT T UF HEw@Ul Uee] I8 § 6
Al Y, T A qRaeT H,
I dfea wifedal 3R greAretl i
T B T T TR e, T1fh 98 T
quT STe ST Hok — ot & 39 ST off etfe
TE &1 | FArYEihed i JHe ST Ueel
ST - el & ST 39 99T |
HHAST I AT 3R W 3
I HH-Y-HT HET q4T STH! 99 o=

YIfeTdl | AT ST |

AT e HIEA § Uk SUNH
qhieh &l — U1 SUNTH i I A,
AU HHIS &k S, AU T
T & IFET S 3R HH B B
URA o1 & | ST HHST T “HrHmeTeh
STHRIAT ITEECA §RT 9T {ohar S
£ | QIS SR o HIE-|1e S
TE-E o G TR 3@ ¥ 3fd &
a 3 RN i HIT-UTAsRaT i oS
YOI e € | A ST T A v PRt
[T 3TTeRIT o feld STRERN €

() wsR &, S e
e aiasT, =medas qr
[T HIRTAT sl HHT, TSR
STOFY ST 379 |

47.

48.

49.

50.
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wiaeer Tt widtead, S
TS i T, A Y
FH, AMMROT W A ®W,
TR, 3T |

(il) & % PR &fd, S99 o,
Hitq 3R SRe foaepr st Ty
TRIET0T ot forhe A § |

(i)

frefafad & 9 9 o e & ida
TET 3T 2

(A) TTHIISTER HILTET UTITETOT

(B) =AEHIeR fReE

(C) qRferet ey

(D) TUS H @A 3

e T o ue &

(A) 3TE 3T A i e

(B) HAIARS U

(C) dfad emarel IR wifeaal ol
I hIAT

(D) @1 S eAfayra

HIHTISTeR STQTeRel &
(A) el AT TiereT
(B) & 3R T A F S[el T

(C) T qAT FTHTST HIRTeAT i

AT
(D) 31T S T BT 3T

frefefad § @ &9 91 uded e
UfcfshaTat o ST et 31T 2

(A) STIAT Y TRA-eT

(B)  STCHIITETY i HHI

(C) 3o ETeH

(D) TROT o7 1 &R
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